
450 RALLY FACTORY REPLICA 2014 <2014><EU><F9399N8>
BATTERY

10347

Pos Part Number Description Additional Text Quantity

1 76311054000 BATTERY BOX 1.00

2 50303018000 RUBBER L=145MM 1.00

3 76311056000 RUBBER GROMMET 15X15-M5X8 2.00

4 0024060106 HH COLLAR SCREW M6X10 TX30 4.00

5 43205062100 silentbloc 20x15-M6x10-(1) ONLY FOR USA 2.00

6 0985060003 Self lock. nut DIN985-M6-A2 4.00

7 59003001099 METAMOLL 90X45X3MM 03 4.00

8 76339031000 CDI UNIT KOKUSAN 450 RALLY 11 1.00

9 0025050106 HH collar screw M5x10 TX30 2.00

12 76211058000 Starter relay 1.00

13 58011109130 Plug-in fuse, big 30A 2.00

15 0902060083 Oval head screw ISO 7380 M 6X8 2.00

16* 61111057000 RELAY CM1A-R-12V-H80 07 2.00

17 0985050103 OVAL HEAD SCR. DIN7985-M 5X10 2.00

18 77311053200 BATTERY 12V 4AH SXS-F 1.00

21 76311086000 BATTERY CABLE 1.00

22 76311059000 STARTER CABLE 1.00



23 76311097000 GROUND CABLE 1.00
* = New part


